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SHl 01 A A DlBHEHCH EEH-E)
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o 2 8 0 It 4,428,949 4,279,425 149,524
= 26,500 26,234 266
X 2,437,000 2,439,000 £2,000
< 221,750 341,617 A 119,867
Al 1,743,699 1,472,574 271,125
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= 26,500 26,234 266
X 2,437,000 2,439,000 £2,000
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= 23,500 23,234 266
X 100,000 100,000 0
= 16,750 16,617 133
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SNO O 2AX 118,088 98,351 19,737
= 23,500 23,234 266
= 11,750 11,617 133
Al 82,838 63,500 19,338
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= 23,500 23,234 266
= 11,750 11,617 133
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= 3,000 2,867 133
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WLBFMA JIBtES 3,453,820 3,445,820 8,000
= 3,000 3,000 0
X 2,337,000 2,339,000 ~2,000
= 185,000 200,000 £ 15,000
Al 928,820 903,820 25,000
HY M AR A 40,000 40,000 0
< 0 20,000 £20,000
Al 40,000 20,000 20,000
401 Al HI YL =2 Tl 40,000 40,000 0
< 0 20,000 £20,000
Al 40,000 20,000 20,000
01 A&l 40,000 40,000 0
OMALYI| +HSgH2l ZE 40,000,0002 40,000 40,000 0
< 0 20,000 A20,000
Al 40,000 20,000 20,000
M3 SHEEHLAY Ol ZME)|gE) 1,798,000 1,800,000 £2,000
X 1,438,000 1,440,000 A2,000
= 180,000 180,000 0
Al 180,000 180,000 0
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Ol = 2l (o 2 8ot ) 83,812 86,094 2,718
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el J=2AH| (o %aort) (St
2 A .2 (S H) - HEMNY - BHES 01l Ao I AR Husz
—HNYEs SFZ EHO0IX 2D AU A
22 37,4002 801 & 300 0 300
202 04l 2,108 0 2,108
01 2L 0dl 2,108 0 2,108
ONEE SF8E 2 =SY2H S d2EAX
210,800% x2H «53] 2,108 0 2,108
405 KH&HE S| 900 0 900
01 THAtY 2 E H SH 900 0 900
OXtet ¥ 2EFHSH 900 0 900
—HEE RFRE +3AMN24 HHY 7Y
200,000 24 400 0 400
—HEs RFRE +3AN2A FIIF 7Y
500,000 1Ml E 500 0 500
ANEFH & 2HNSAX 352,821 256,215 96,606
= 20,000 125,000 A 105,000
Al 332,821 131,215 201,606
*2 U 2oz 352,821 256,215 96,606
= 20,000 125,000 A 105,000
Al 332,821 131,215 201,606
SILE 45 352,821 256,215 96,606
= 20,000 125,000 A 105,000
Al 332,821 131,215 201,606
202 04l 7,871 1,265 6,606
01 2L 0dtl 2,108 1,265 843
OHOIH E2MHE L SS2 &8 ILFA
o H A 210,800 2 *53] 2,108 1,265 843
03 2A 20l 5,763 0 5,763
OlAEZEZ2R & (E=2) 5,763 0 5,763
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Al 20,000 25,000 25,000
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